

BID TAE	BULATION				ENGINEER'S ESTIMATE		HCL CONTRACTING, LLC.		JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LL	
Item No.	Spec. No.	Item Description	Estimate		Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
1	201-A	CLEARING AND GRUBBING (APPROX. 1.5 ACRES)	1	LS	\$24,000.00	\$24,000.00	\$16,500.00	\$16,500.00	\$11,354.32	\$11,354.32	\$25,947.12	\$25,947.12
2	206-D1	REMOVING PIPE	680	LF	\$15.00	\$10,200.00	\$7.68	\$5,222.40	\$13.39	\$9,105.20	\$14.97	\$10,179.60
3	206-D2	REMOVING GUARDRAIL	349	LF	\$13.00	\$4,537.00	\$3.49	\$1,218.01	\$3.30	\$1,151.70	\$3.80	\$1,326.20
4	206-E1	REMOVING INLETS	6	EA	\$1,000.00	\$6,000.00	\$393.97	\$2,363.82	\$669.39	\$4,016.34	\$381.31	\$2,287.86
5	206-E2	REMOVING INLETS (PARTIAL)	1	EA	\$500.00	\$500.00	\$700.41	\$700.41	\$892.50	\$892.50	\$1,901.13	\$1,901.13
6	206-E3	REMOVING GUARDRAIL END ANCHOR (ALL TYPES)	4	EA	\$500.00	\$2,000.00	\$349.05	\$1,396.20	\$330.00	\$1,320.00	\$380.23	\$1,520.92
7	210-A	UNCLASSIFIED EXCAVATION (INCLUDING ASPHALT PAVEMENT REMOVAL)	3,750	CY	\$25.00	\$93,750.00	\$14.69	\$55,087.50	\$18.63	\$69,862.50	\$22.04	\$82,650.00
8	210-D	BORROW EXCAVATION (TRUCKBED MEASUREMENT)	18,100	CYIP	\$28.00	\$506,800.00	\$12.10	\$219,010.00	\$14.13	\$255,753.00	\$19.21	\$347,701.00
9	210-E	BORROW EXCAVATION (UNDERWATER BACKFILL)	1,500	CY	\$30.00	\$45,000.00	\$13.57	\$20,355.00	\$16.49	\$24,735.00	\$19.85	\$29,775.00
10	214-A	STRUCTURE EXCAVATION	300	CY	\$35.00	\$10,500.00	\$25.36	\$7,608.00	\$27.27	\$8,181.00	\$13.69	\$4,107.00
11	214-B	FOUNDATION BACKFILL, COMMERCIAL	400	CY	\$135.00	\$54,000.00	\$138.56	\$55,424.00	\$111.89	\$44,756.00	\$185.10	\$74,040.00
12	230-A	ROADBED PROCESSING	13	RBST	\$500.00	\$6,500.00	\$439.37	\$5,711.81	\$799.99	\$10,399.87	\$252.22	\$3,278.86
13	243-A	GEOSYNTHETIC REINFORCEMENT FOR SOFT SOIL STABILIZATION, TYPE 3	2,200	SY	\$5.00	\$11,000.00	\$3.74	\$8,228.00	\$9.63	\$21,186.00	\$7.41	\$16,302.00
14	260-A	CEMENT MORTAR FLOWABLE BACKFILL, MIX 1	50	CY	\$850.00	\$42,500.00	\$305.81	\$15,290.50	\$357.50	\$17,875.00	\$333.13	\$16,656.50
15	301-A	CRUSHED AGGREGATE BASE COURSE, TYPE B, PLANT MIXED, 5" COMPACTED THICKNESS	5,630	SY	\$40.00	\$225,200.00	\$22.25	\$125,267.50	\$28.93	\$162,875.90	\$29.48	\$165,972.40
16	401-A	BITUMINOUS TREATMENT TYPE A	5,630	SY	\$2.00	\$11,260.00	\$0.01	\$56.30	\$1.51	\$8,501.30	\$1.77	\$9,965.10
17	405-A	TACK COAT	1,300	GAL	\$6.00	\$7,800.00	\$5.15	\$6,695.00	\$4.28	\$5,564.00	\$7.60	\$9,880.00



BID TAE	BULATION				ENGINEER'	S ESTIMATE	HCL CONTE	RACTING, LLC.	JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LLC	
Item No.	Spec. No.	Item Description	Estimate		Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
18	408-A	PLANING EXISTING PAVEMENT (APPROX. 0" THRU 3.5" THICK)	800	SY	\$20.00	\$16,000.00	\$10.08	\$8,064.00	\$15.34	\$12,272.00	\$12.67	\$10,136.00
19	424-A	SUPERPAVE BITUMINOUS CONCRETE WEARING SURFACE LAYER, 1/2" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE C/D (180 LBS/SY)	650	TON	\$135.00	\$87,750.00	\$117.66	\$76,479.00	\$145.66	\$94,679.00	\$221.80	\$144,170.00
20	424-B1	SUPERPAVE BITUMINOUS CONCRETE BINDER LAYER, LEVELING, 1/2" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE C/D (VARIES 80-720 LBS/SY)	145	TON	\$150.00	\$21,750.00	\$306.64	\$44,462.80	\$219.46	\$31,821.70	\$253.48	\$36,754.60
21	424-B2	SUPERPAVE BITUMINOUS CONCRETE BINDER LAYER, 3/4" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE C/D (250 LBS/SY)	650	TON	\$135.00	\$87,750.00	\$108.35	\$70,427.50	\$130.25	\$84,662.50	\$234.47	\$152,405.50
22	430-B1	AGGREGATE SURFACING (ALDOT #57)	100	TON	\$85.00	\$8,500.00	\$73.00	\$7,300.00	\$81.97	\$8,197.00	\$104.84	\$10,484.00
23	430-B2	AGGREGATE SURFACING (ALDOT #1)	100	TON	\$100.00	\$10,000.00	\$73.00	\$7,300.00	\$81.97	\$8,197.00	\$134.97	\$13,497.00
24	450-A1	PLAIN CEMENT CONCRETE PAVEMENT, 10 INCHES THICK	300	SY	\$300.00	\$90,000.00	\$168.71	\$50,613.00	\$111.49	\$33,447.00	\$183.78	\$55,134.00
25	502-A	STEEL REINFORCEMENT (GRADE 60)	890	LBS	\$6.00	\$5,340.00	\$4.37	\$3,889.30	\$3.30	\$2,937.00	\$4.77	\$4,245.30
26	505-E	PERMANENT STEEL SHEET PILING	1,390	LF	\$200.00	\$278,000.00	\$92.04	\$127,935.60	\$142.74	\$198,408.60	\$125.47	\$174,403.30
27	510-A	BRIDGE SUBSTRUCTURE CONCRETE	14	CY	\$1,000.00	\$14,000.00	\$3,620.25	\$50,683.50	\$2,102.10	\$29,429.40	\$3,943.66	\$55,211.24
28	530-A	30" ROADWAY PIPE (CLASS 3 R.C.)	100	LF	\$150.00	\$15,000.00	\$96.62	\$9,662.00	\$117.81	\$11,781.00	\$102.31	\$10,231.00
29	533-A1	30" STORM SEWER PIPE (CLASS 3 R.C.)	24	LF	\$180.00	\$4,320.00	\$94.48	\$2,267.52	\$117.66	\$2,823.84	\$99.14	\$2,379.36
30	533-A2	36" STORM SEWER PIPE (CLASS 3 R.C.)	588	LF	\$220.00	\$129,360.00	\$113.78	\$66,902.64	\$138.73	\$81,573.24	\$123.64	\$72,700.32
31	533-A3	48" STORM SEWER PIPE (CLASS 3 R.C.)	342	LF	\$285.00	\$97,470.00	\$188.32	\$64,405.44	\$206.97	\$70,783.74	\$212.23	\$72,582.66
32	535-A1	30" SIDE DRAIN PIPE, (CLASS 3 R.C.)	48	LF	\$125.00	\$6,000.00	\$94.11	\$4,517.28	\$109.51	\$5,256.48	\$99.14	\$4,758.72
33	600-A	MOBILIZATION	1	LS	\$253,000.00	\$253,000.00	\$73,382.05	\$73,382.05	\$133,733.38	\$133,733.38	\$242,082.06	\$242,082.06



BID TAE	BULATION				ENGINEER'S ESTIMATE		HCL CONTRACTING, LLC.		JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LLC	
Item No.	Spec. No.	Item Description	Estimate Quantity		Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
34	605-B	SPECIAL UNDERDRAIN OUTLET, TYPE C	1	EA	\$2,000.00	\$2,000.00	\$723.53	\$723.53	\$910.72	\$910.72	\$1,901.13	\$1,901.13
35	606-A1	6" UNDERDRAIN PIPE, TYPE 10	300	LF	\$45.00	\$13,500.00	\$17.83	\$5,349.00	\$41.54	\$12,462.00	\$41.84	\$12,552.00
36	606-A2	6" UNDERDRAIN PIPE, TYPE 8 (NON- PERFORATED)	75	LF	\$45.00	\$3,375.00	\$17.11	\$1,283.25	\$25.72	\$1,929.00	\$71.07	\$5,330.25
37	610-A	LOOSE RIPRAP, CLASS 2 (REMOVE AND RELOCATE)	100	SY	\$75.00	\$7,500.00	\$42.02	\$4,202.00	\$53.55	\$5,355.00	\$30.82	\$3,082.00
38	610-C1	LOOSE RIPRAP, CLASS 2 (24" THICK)	75	SY	\$125.00	\$9,375.00	\$98.83	\$7,412.25	\$107.07	\$8,030.25	\$134.28	\$10,071.00
39	610-C3	LOOSE RIPRAP, CLASS 3	26	TON	\$150.00	\$3,900.00	\$85.00	\$2,210.00	\$159.16	\$4,138.16	\$134.28	\$3,491.28
40	610-D	FILTER BLANKET, GEOTEXTILE	950	SY	\$5.00	\$4,750.00	\$4.59	\$4,360.50	\$6.42	\$6,099.00	\$3.42	\$3,249.00
41	614-A	SLOPE PAVING	70	CY	\$1,500.00	\$105,000.00	\$581.74	\$40,721.80	\$709.50	\$49,665.00	\$633.71	\$44,359.70
42	619-A1	30" SIDE DRAIN PIPE END TREATMENT, CLASS 2 (4:1 SLOPE)	5	EA	\$1,800.00	\$9,000.00	\$3,774.34	\$18,871.70	\$2,420.00	\$12,100.00	\$4,111.98	\$20,559.90
43	619-A2	48" ROADWAY PIPE END TREATMENT, CLASS 1 (3:1 SLOPE) (30 DEGREE SKEW)	1	EA	\$3,500.00	\$3,500.00	\$2,497.52	\$2,497.52	\$4,290.00	\$4,290.00	\$2,721.15	\$2,721.15
44	620-A	MINOR STRUCTURE CONCRETE	5	CY	\$1,700.00	\$8,500.00	\$1,745.23	\$8,726.15	\$1,855.36	\$9,276.80	\$1,901.13	\$9,505.65
45	621-A1	JUNCTION BOXES, TYPE 1 (CAST IN PLACE)	1	EA	\$5,000.00	\$5,000.00	\$18,221.79	\$18,221.79	\$10,120.00	\$10,120.00	\$19,849.61	\$19,849.61
46	621-A2	JUNCTION BOXES, TYPE PARTIAL	1	EA	\$2,500.00	\$2,500.00	\$3,962.62	\$3,962.62	\$5,280.00	\$5,280.00	\$4,316.63	\$4,316.63
47	621-C1	INLETS, TYPE PD-6	5	EA	\$10,000.00	\$50,000.00	\$7,892.35	\$39,461.75	\$8,553.52	\$42,767.60	\$9,938.37	\$49,691.85
48	621-C2	INLETS, TYPE S4 (1 WING) (CAST IN PLACE)	1	EA	\$8,000.00	\$8,000.00	\$13,586.25	\$13,586.25	\$9,350.00	\$9,350.00	\$14,799.96	\$14,799.96
49	621-C3	INLETS, TYPE WEIR (OPEN ON ONE SIDE)	2	EA	\$6,000.00	\$12,000.00	\$4,689.87	\$9,379.74	\$5,447.89	\$10,895.78	\$6,650.93	\$13,301.86



BID TAE	IID TABULATION				ENGINEER'S ESTIMATE		HCL CONTRACTING, LLC.		JOHN G. WALTON CONSTRUCTION CO., INC.			LETON CTION, LLC
Item No.	Spec. No.	Item Description	Estimate Quantity	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
50	621-D	INLET UNITS, TYPE S2 OR S4 (CAST IN PLACE)	3	EA	\$2,000.00	\$6,000.00	\$1,454.36	\$4,363.08	\$1,650.00	\$4,950.00	\$1,584.28	\$4,752.84
51	623-A	CONCRETE GUTTER	23	LF	\$100.00	\$2,300.00	\$80.40	\$1,849.20	\$119.04	\$2,737.92	\$87.58	\$2,014.34
52	623-B1	CONCRETE CURB, TYPE N	800	LF	\$40.00	\$32,000.00	\$28.48	\$22,784.00	\$17.60	\$14,080.00	\$31.03	\$24,824.00
53	623-B2	CONCRETE CURB, RAVEL TYPE	22	LF	\$85.00	\$1,870.00	\$49.31	\$1,084.82	\$33.00	\$726.00	\$53.71	\$1,181.62
54	623-B3	CONCRETE CURB, TYPE N SPECIAL	80	LF	\$125.00	\$10,000.00	\$91.35	\$7,308.00	\$99.00	\$7,920.00	\$99.51	\$7,960.80
55	623-C	COMBINATION CURB & GUTTER, TYPE C, MODIFIED (2'-0" WIDE)	845	LF	\$30.00	\$25,350.00	\$35.42	\$29,929.90	\$23.10	\$19,519.50	\$38.58	\$32,600.10
56	630-A	STEEL BEAM GUARDRAIL, CLASS A, TYPE 2	549	LF	\$35.00	\$19,215.00	\$29.67	\$16,288.83	\$28.05	\$15,399.45	\$32.32	\$17,743.68
57	630-C	GUARDRAIL END ANCHOR, TYPE 20	6	EA	\$4,000.00	\$24,000.00	\$3,432.28	\$20,593.68	\$3,245.00	\$19,470.00	\$3,738.90	\$22,433.40
58	650-A	TOPSOIL	1,200	CY	\$25.00	\$30,000.00	\$25.97	\$31,164.00	\$23.94	\$28,728.00	\$23.25	\$27,900.00
59	652-C	MOWING	5	ACRE	\$375.00	\$1,875.00	\$489.58	\$2,447.90	\$385.00	\$1,925.00	\$365.16	\$1,825.80
60	654-A	SOLID SODDING (MATCH EXISTING GRASS TYPE)	10,500	SY	\$6.00	\$63,000.00	\$5.37	\$56,385.00	\$5.50	\$57,750.00	\$7.60	\$79,800.00
61	659-C	EROSION CONTROL PRODUCT, TYPE S4	9,615	SY	\$3.50	\$33,652.50	\$2.93	\$28,171.95	\$5.50	\$52,882.50	\$3.68	\$35,383.20
62	665-A	TEMPORARY SEEDING	2	ACRE	\$1,200.00	\$2,400.00	\$1,335.87	\$2,671.74	\$990.00	\$1,980.00	\$1,153.53	\$2,307.06
63	665-B	TEMPORARY MULCHING	2	ACRE	\$1,200.00	\$2,400.00	\$986.82	\$1,973.64	\$1,237.50	\$2,475.00	\$1,711.20	\$3,422.40
64	665-G	SAND BAGS	250	EA	\$15.00	\$3,750.00	\$8.89	\$2,222.50	\$11.00	\$2,750.00	\$6.97	\$1,742.50
65	665-J	SILT FENCE, TYPE A	1,500	LF	\$5.00	\$7,500.00	\$3.83	\$5,745.00	\$4.40	\$6,600.00	\$7.80	\$11,700.00
66	665-O	SILT FENCE REMOVAL	1,500	LF	\$2.00	\$3,000.00	\$0.97	\$1,455.00	\$1.65	\$2,475.00	\$1.61	\$2,415.00
67	665-P	INLET PROTECTION, STAGE 3 OR 4	9	EA	\$600.00	\$5,400.00	\$364.05	\$3,276.45	\$495.00	\$4,455.00	\$863.66	\$7,772.94



BID TAE	BULATION				ENGINEER'S	S ESTIMATE	HCL CONTR	ACTING, LLC.	JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LLC	
Item No.	Spec. No.	Item Description	Estimate	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
68		WATTLES	600	LF	\$10.00	\$6,000.00	\$9.60	\$5,760.00	\$10.45	\$6,270.00	\$9.18	\$5,508.00
69	665-S	BRUSH BARRIER	400	LF	\$20.00	\$8,000.00	\$6.89	\$2,756.00	\$8.39	\$3,356.00	\$17.25	\$6,900.00
70	680-A	ENGINEERING CONTROLS	1	LS	\$37,000.00	\$37,000.00	\$36,100.00	\$36,100.00	\$6,810.74	\$6,810.74	\$14,046.59	\$14,046.59
71	698-A	CONSTRUCTION FUEL	1	LS	\$141,000.00	\$141,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
72	701-A1	SOLID YELLOW, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	1	MILE	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00	\$5,500.00	\$5,500.00	\$6,337.11	\$6,337.11
73	701-A2	SOLID WHITE, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	1	MILE	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00	\$5,500.00	\$5,500.00	\$6,337.11	\$6,337.11
74	701-A3	DOTTED WHITE, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	180	LF	\$6.00	\$1,080.00	\$1.00	\$180.00	\$2.20	\$396.00	\$2.53	\$455.40
75	701-C1	SOLID YELLOW, TEMPORARY TRAFFIC STRIPE (PAINT)	1	MILE	\$1,250.00	\$1,250.00	\$3,100.00	\$3,100.00	\$1,650.00	\$1,650.00	\$1,901.13	\$1,901.13
76	701-C3	SOLID WHITE, TEMPORARY TRAFFIC STRIPE (PAINT)	1	MILE	\$1,250.00	\$1,250.00	\$3,100.00	\$3,100.00	\$1,650.00	\$1,650.00	\$1,901.13	\$1,901.13
77	703-A	TRAFFIC CONTROL MARKINGS, CLASS 2, TYPE A	2,560	SF	\$15.00	\$38,400.00	\$7.50	\$19,200.00	\$6.60	\$16,896.00	\$7.60	\$19,456.00
78	703-B	TRAFFIC CONTROL LEGENDS, CLASS 2, TYPE A	97	SF	\$15.00	\$1,455.00	\$10.00	\$970.00	\$7.15	\$693.55	\$8.24	\$799.28
79	703-D	TEMPORARY TRAFFIC CONTROL MARKINGS	102	SF	\$3.00	\$306.00	\$3.00	\$306.00	\$2.75	\$280.50	\$3.17	\$323.34
80	703-E	TEMPORARY TRAFFIC CONTROL LEGENDS	97	SF	\$5.00	\$485.00	\$3.00	\$291.00	\$3.30	\$320.10	\$3.80	\$368.60
81	705-A1	PAVEMENT MARKERS, CLASS A-H, TYPE 1C	150	EA	\$6.00	\$900.00	\$7.00	\$1,050.00	\$6.60	\$990.00	\$7.60	\$1,140.00
82	705-A2	PAVEMENT MARKERS, CLASS A-H, TYPE 2D	130	EA	\$6.00	\$780.00	\$7.00	\$910.00	\$6.60	\$858.00	\$7.60	\$988.00
83	705-A3	PAVEMENT MARKERS, CLASS A-H, TYPE 2E	400	EA	\$6.00	\$2,400.00	\$7.00	\$2,800.00	\$6.60	\$2,640.00	\$7.60	\$3,040.00
84	710-A	CLASS 4 ALUMINUM FLAT SIGN	356	SF	\$30.00	\$10,680.00	\$37.81	\$13,460.36	\$35.75	\$12,727.00	\$41.19	\$14,663.64
85	710-B	SIGN POST	700	LF	\$20.00	\$14,000.00	\$22.75	\$15,925.00	\$21.51	\$15,057.00	\$24.78	\$17,346.00



BID TAE	BULATION				ENGINEER'	S ESTIMATE	HCL CONTRACTING, LLC.		JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LL	
Item No.	Spec. No.	Item Description	Estimate	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
86	740-B	CONSTRUCTION SIGNS	802	SF	\$15.00	\$12,030.00	\$8.14	\$6,528.28	\$7.70	\$6,175.40	\$8.87	\$7,113.74
87	740-C	SPECIAL CONSTRUCTION SIGNS	165	SF	\$40.00	\$6,600.00	\$9.89	\$1,631.85	\$9.35	\$1,542.75	\$10.77	\$1,777.05
88	740-D	CHANNELIZING DRUMS	250	EA	\$15.00	\$3,750.00	\$51.19	\$12,797.50	\$20.92	\$5,230.00	\$55.77	\$13,942.50
89	740-E	CONES, 36" HIGH	100	EA	\$15.00	\$1,500.00	\$22.11	\$2,211.00	\$0.01	\$1.00	\$20.28	\$2,028.00
90	740-F	BARRICADES, TYPE III	18	EA	\$350.00	\$6,300.00	\$238.51	\$4,293.18	\$225.50	\$4,059.00	\$259.82	\$4,676.76
91	740-1	WARNING LIGHTS, TYPE B	36	EA	\$90.00	\$3,240.00	\$87.26	\$3,141.36	\$82.50	\$2,970.00	\$95.06	\$3,422.16
92	740-M	BALLAST FOR CONES	100	EA	\$1.00	\$100.00	\$0.01	\$1.00	\$0.01	\$1.00	\$0.01	\$1.00
93	742-A	PORTABLE CHANGEABLE MESSAGE SIGN, TYPE 2	3	EA	\$5,000.00	\$15,000.00	\$6,407.58	\$19,222.74	\$2,966.90	\$8,900.70	\$6,337.11	\$19,011.33
94	750-B	ROADWAY LUMINAIRE ASSEMBLY WITH ONE, LED, 250 WATT EQUIVALENT LUMINAIRE	6	EA	\$7,500.00	\$45,000.00	\$7,906.14	\$47,436.84	\$7,474.75	\$44,848.50	\$8,612.43	\$51,674.58
95	750-C1	POLE FOUNDATION, ROADWAY	6	EA	\$8,000.00	\$48,000.00	\$20,266.57	\$121,599.42	\$19,160.75	\$114,964.50	\$22,077.06	\$132,462.36
96	750-C2	40' ROADWAY POLE WITH 15' TRUSS AND BREAKAWAY PARTS	6	EA	\$8,500.00	\$51,000.00	\$11,690.10	\$70,140.60	\$11,052.24	\$66,313.44	\$12,734.42	\$76,406.52
97	750-D	ELECTRICAL JUNCTION BOX, TYPE 1	4	EA	\$1,500.00	\$6,000.00	\$1,634.63	\$6,538.52	\$1,545.44	\$6,181.76	\$1,780.65	\$7,122.60
98	750-E1	CONDUIT, 1 INCH, RIGID NONMETALLIC	50	LF	\$15.00	\$750.00	\$19.91	\$995.50	\$18.82	\$941.00	\$21.69	\$1,084.50
99	750-E2	CONDUIT, 2 INCH, RIGID NONMETALLIC	1,050	LF	\$20.00	\$21,000.00	\$36.98	\$38,829.00	\$34.96	\$36,708.00	\$40.28	\$42,294.00
100	750-F1	CONDUCTOR, #8 AWG	4,000	LF	\$5.00	\$20,000.00	\$4.08	\$16,320.00	\$3.86	\$15,440.00	\$4.45	\$17,800.00
101	750-F2	CONDUCTOR, #10 AWG	2,000	LF	\$5.00	\$10,000.00	\$3.42	\$6,840.00	\$3.23	\$6,460.00	\$3.73	\$7,460.00
102	750-H	SERVICE POLE (35' WOOD)	1	EA	\$6,500.00	\$6,500.00	\$8,216.22	\$8,216.22	\$7,767.91	\$7,767.91	\$8,950.21	\$8,950.21
103	750-l	LIGHTING CONTROL CENTER, TYPE WP (120/240 V)	1	EA	\$50,000.00	\$50,000.00	\$66,079.78	\$66,079.78	\$62,474.23	\$62,474.23	\$71,982.96	\$71,982.96



DID TAC	BULATION		ENGINEER'S ESTIMATE		HCL CONTRACTING, LLC.		JOHN G. WALTON CONSTRUCTION CO., INC.		MIDDLETON CONSTRUCTION, LLC			
Item No.	Spec. No.	Item Description	Estimate Quantity		Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
104	756-A	6 INCH ELECTRICAL CONDUIT, 2 LINES, TYPE 5 INSTALLATION	120	LF	\$150.00	\$18,000.00	\$178.55	\$21,426.00	\$168.81	\$20,257.20	\$194.50	\$23,340.00
105	1002-A	RESIDENTIAL ASPHALT DRIVEWAY	50	SY	\$50.00	\$2,500.00	\$49.00	\$2,450.00	\$78.29	\$3,914.50	\$92.81	\$4,640.50
106	1002-B	COMMERCIAL ASPHALT DRIVEWAY	60	SY	\$75.00	\$4,500.00	\$51.00	\$3,060.00	\$64.28	\$3,856.80	\$93.84	\$5,630.40

TOTAL AMOUNT BID FOR PROJECT: TOTAL TAX SAVINGS: \$3,314,155.50

\$2,213,777.77 \$58,057.36 APPARENT LOW BIDDER

\$2,407,627.77 \$20,711.77 \$2,975,560.90 \$30,433.28

WE HEREBY CERTIFY THIS TO BE A TRUE AND CORRECT TABULATION OF BIDS

Brian Morgan, P.E. PROJECT MANAGER

MICHAEL BAKER INTERNATIONAL



COMMENTS:

- 1. Calculation Error. Written Bid Amount was \$2,968,981.10.
- 2. The amount of total estimated tax savings was reported by each Contractor and cannot be verified by MBI.